A
T

SO

]

iiE
o

tLHE 2Ol
Af

.
o

—

—

M

OF X
-1 1, O
ZMo| Xoph g, +7= =

Z=OFMCE

X}

o
H|=0|2t=
E= 042

-t

I3l 252 E2L-FOIL 7HK[7t =

A Xplol Hetiz,
—

3

o
=

-
(=)

=

=
o

Stet
Ho=z
LItA] C
[ |

af
toldezMe +30| LA

O

O Ab7} 5 H 1} OFLHZ A 2
Ct

ol of

F

3
o]
FEO| Kol

¥

<+ MAH Nashville Statement>
0| ALt =5 &|0{0F

| &=t e19F0] OtL{2t K

=AY
SHA F04 &l AtO

F
Z4
=

—

-
(o)
=

=

]

e

S
Lt O] %[ 0] 017

o)
xto|7} Efatel

tLte 2Ol A

Cf.
;

o gof| A A

—_
-
o
=
—

-
()

2|
LEA
O o

20|
o
°
g

L

=
(=1

o.
—
=

F

2|

FEl= otLteHM 54, 2R E= B SEH CHA
s

A1 22l= ot EMA

AtEZ ol
EE

Al 3
2=

o

°

oln

n
ol

a0

1
i

I



P2 AAER

-
o

o]
- O

| T XKOF19:12)y°0f| CH3H

=
—

A

EHZ} O
FAIOff CHEH SELFEHIA ZEHO| A S

—

VS
|

2|

O[] &O[Lt
Xtot2I4] Atole]

A
4

—

A
(i
Ol

=

=

=
Of
StLtE 2l

=13

Pl
[ <+ -r
ot u ol o oS
= o o = £l AT
) e ) mﬂ i <)
N nu e ﬂ —_—
o io < TH
) ! © % s T
ol OF Wu <l mo~ o
e o - 0
o £l & . ® T ol a
- 10 [} _._.__._| X a0 -
< Ko WE T = T <
_ﬂ_ <k o2 &I ol ~ o m._m
- M H z I0 rle o
h Ol oo T o = ]
o 30 <o ® Rl S g
=) N Tooooo M3 5
- = X ol 5T B |
H = e ”——I—”
) o - o =
il = o & 2 o X ofu
< H ou e T S
m —~ — my 9 oju ao 0l =R [y
W e =35 W <z 3&a = wn
10 < oH R Bl oo X o1k
A x o > o > ol o X1 oH
s o K & med N
M T/ o = = - RO ol a3 o5 o
5 ® T ® od o o K
RIS o < 3T = ] s < ]
(ST il MH O|_ m_.A_._ .“____o_u ar o X o |
= o & o & & T oo = ub
R B - 8 O K -r ol 33 S —
o0 Hn Tl . < |._A| zl ofn .__A._. ) - .mq
FIEEE) 8 4 < O =T
11T | R S i oy AR | I =0
m.__l jol ol ul — N = o__._._ X
< _”__._._._ _”__._._._ N <V or L_l_ Y| < _I_ < od O]
R T o © I
M 3 ol N 1 Ki S ol 44 uu or s I
EE Ll m.__m m__l._ n KO0 X0 = gl o] = X0 m_u_.__
oo X h Ok 21 U gr g w
o nj 4y o W o W< w < ©& o
= W= L AT ° m X o J
M @ o &3 = X o 1+ = M #Ho oF d

O]-gof et

b

Ml o2t



jol
Ik

10| Z/7} £|oi, 223 Q17|

=0|

Ade[AEQl

M
(=]

POl QAKX LE AL QHOf| A

tLHE 2] A

-
o

ATHE X| 2 Al

oz XA

toldg

H

o
g2 50|15

!

.
o
[

o|7F K| 22 A2t

=
= 2= AFS0|

tLHE 2l

AB|AE QM S

=
—

N 12g 22|

~
(=]

M2l

o
=y

L
[=|

O, O] A HAM 2 Ofl 5

=
T

|

2l= 12|

o
M

N k=1

L
F= 0HOZ M9

o] E=AHNIGE}

LIA C
O o

=
=
2t

5= z[2

I—IO|2
O—l —

2| Ak Of 5= 2toff QU= Bt

fele

!

e
[s)
o

Al 13

-t

bR Ad
-1 O

HEZ| 2 HEs QL2 M StLtE o] H}

Xtop7H

= A7

P

-
o

MOS0 §HOZ LYK

|7} SHLEEHIA 20

= ofLiEel 2

(o]
N

J2|AE 04 otof

2=

o
M



H14e 2els 2|2k O=HAM | QlES RS 21 M0 &otilChe At 0=
J2[AETH0| FHA|F=0|0 Z=QI0|A[H, E1(tt 2H =M S50 #2
AMESOA SRS 4TS FAIChks AS AT

=3 [

2|= FEel 20| £|2lE 7R |0fl= L& BTHALE O Z[elojet: /0 0|F == BlHt

=

rok rr

X o

[=]
T



